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T (V2 D)

EEDveV DHvy,...,v, e VDIIXFEETRITE L E,
ie. v=FKkvi+---+ kv, (ile. o TRDDL)

Vi, v 1 EV 2RSS 20V, V= L{vy,...,v,},

V = Span{vy,...,v,}, V = (vi,...,v,)r RE &N LK. DK,
V = Span{vy,...,v,} &5 <.

A,

1l

i=(1,0,0),j = (0,1,0),k = (0,0,1) i R® 235 : R? = Span{i, j, k}.
RO v = (a,b,c) ER3Fv=ai+bj+ck DT3B,

N\

1l
R[X], = Span{l, X,..., X"}
CHEEDO feERX]E f=a-1+ai X+ +a, X" EWT5B.

v
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i
vi = (1,1,2), va = (1,0,1), v3 = (2,1,3) e R} IX R3 25855 ?
DX D, IRS = Span{wl,wQ,vg}?
FEDODb = (b1, ba,b3) € R3 &b = kivy + kovo + ksvg &R F 507
Ib:(kl+k2+2k3,k‘1+k3,2]€1+k2+3k3). 2% 0,
k1 + ko + 2ks = by
k1 + k3=0by MWEEHLONT? Zhik, A= (
2k1 + ko + 3k3 = b3

N = =
—_ O =
W = N

|

k1 b1
LT, A(kg ) = ( bg) EMTSH. A ERITE = RH D -
ks bs

k1 b1 1
ko =A1 .Uy UL ’A‘ 0
ks b3 1

i

0+2+2-0—-1-3=0&0Y, i (ki,ko,ks) D2V E Db BELET
%. £-7T, R3# Span{vy,vs,v3}.

1 2
1 1
2 3

W% (BRSNS T 07 5 L) BB 1A #am  3/8



Vi,...,vr € V.
Span{vy,...,v,} :={kivi+ -+ kv, |k, eR} CV
Vi,..., v ICK2TIRONDS (FE) 22/ &\ 5.

Vo EERM, vi,..., v, €V.

(a) W = Span{vy,...,v,.} CV : #8522 [].

(b)) W = Span{vy, ..., v, } & v1,...,v, ZEL V OBR/NOE 2 /-].
(bbb, WV :Hn%El, vi,...,v, e W =W W)

(GE) (o) ©ELAD S u,u' e W =u+uw € W, kue W ZREIX &0,

uwu €W =u=3cvi+ -+ 3, v =3vi + -+ + 3,

iu—i—u’:(cl+c’1)w1+-~'+(cr+c})wrGW,

ku = (kci)vi + -+ + (kep)v, € W £ D OK.

(b) W o w; 123 ﬁ'ﬁ_% &, WV :a%Em»D vi,...,v, e W

= cvy+ -+ v, € W =W =Span{vy,...,v,.} C W O
> %&p 171 WJ 20, pp.172-173 MiHMEH 4.3 2 {HATH K.
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4.4 1 IRIRNIME

EF (1ML, 1IRKER)

R NVwi,...,v, EVIRLYMIL THDBLIL, ki,...,.k € RIZH
LT,

k1W1+"‘+kTWT:®:>klz"':k’f'zo
BEATIE. FHTRVEE, 1IRHEE W,

|
.

R
P=QOBEEITPH»DQ TR,

LIXIEETH B &I,

kivi+ -+ kv, =052 (ki,..., k) # (0,...,0)
BBk, k. cRVPEETHI L.

Thbb, vi,...,v, D "TIROEBR" 2HDZ L.
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1

\vl—( -1,0,3), vo = (1,2,5, — )W3=(7,—1,5,8)eR‘*tiNMiﬁﬂ.

2 3vi + v — vz =(0,0,0,0) =

.

1l

pP1=1-2x, p2=5+3z—22% p3=1+3z — 22 € R[z] IZ 1 RKEJE.

" 3p1 — p2 + 2p3 = 0.

A

1

i=(1,0,0),j=(0,1,0), k = (0,0,1) € R3 Ik 1 YRIHT.
k1ﬁ+k2j +l€3]k=®=> (k‘l,k‘g,kig) Z(D:>k‘1 :k‘g :k‘g =0.

.
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%l

vi =(1,-2,3), vo = (5,6,—1), v = (3,2,1) € R3 &

LRSI 7 L IRGEIE A 7

kivi + kovo + ksvs =0 29 5H. DD,

(k1 + bko + 3ks, —2ky + 6k2 + 2ks3, 3k1 — ko + k3) = (0,0,0) THY,
AT 1 IR ARER

k1 + bko +3k3 =0
—2k1 + 6ky + 2k3 =0
3k1 — ko + k3 =0

2R &, (k1 ko, ks) = (—3t,—3t,t) (t € R).
£2T, vi,vo, v X 1 IXIEE.
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Vi,...,Vv, €V B “LIRGEE"
S H(kl,,k‘r)#(o,,()) st. kivi + -+ kv, = 0.
£oT, ki #0295, ThiX

vi = (=)o + -+ (- )

EviDve,... , v, DIFEETHRTAZZ2HoDLTWVWS,

Vi,..., v, ER™ r>n=vi,...,v, & 1IRRKEE.

(EEBH) v, = (vil,...,vm) (Z: 1,...,1") LT, ivi+---+ kv, =0 %
=
vir ot Ul k1 0

Vin o Urn k.r 0
BABDD, KABOB=r>n=HERDKLD,
(kiy. .. ko) £ (0,...,0) 5% &, (¥ p.315EH 1)
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